CBT X NOVEMBER SOCIAL SCIENCE 2024-25
Answer Q1 & Q2 based on following paragraph-

For centuries, silk and spices from china flawed into Europe through the silk route. In the 11th
century, Chinese paper reached Europe via the same route. Paper made possible the production
of manuscripts, carefully written by scribes. Then, in 1925, Marco polo, a great explorer,
returned to Italy after many years of exploration in china. China already had the technology of
woodblock printing. Marco Polio brought this knowledge back with him. Now Italians began
producing books with woodblocks, and soon the technology spread to other parts of Europe.
Luxury editions were still handwritten on very expensive vellum, meant for aristocratic circles
and rich monastic libraries which scoffed at printed books as cheap vulgarities. Merchants and
students in the university towns bought the cheaper printed copies.
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Q1.The route known as silk route because:
i.Silk was the main item exported from Europe to china
ii.Silk was the main item exported from china to Europe
iii.The color of this route was bright yellow

ivTravellers were having very smooth joiurney on this route.
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Answer- ii. Silk was the main item exported from china to Europe
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Q2. What is incorrect about woodblock printing:

i.It was invented in china

ii.It helped to spread printed material at cheaper rate

iii.It was very effective on porous sheets.

iv.this technology was introduced in Europe by an explorer
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Answer- iii.lt was very effective on porous sheets.
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Q3. Match the following

i Software technology park a.Bhadravati

ii [ron and steel b.Amritsar

iii Cotton textile industry c. Murshidabad
iv Silk textile industry d. Bengaluru

v Wollen e. Shahjahapur
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a.i-a, ii-e,iii-c,iv-c, v-e b. i-d, ii-a, iii-e, iv-c, v-b



c. i-d, ii-e, iii-a, iv-c, v-b d. i-b, ii-c, iii-a, iv-e, v-d
Ans- b. i-d, ii-a, iii-e, iv-c, v-b
Q4. Assertion: India need to diversify its manufacturing industries as quickly as possible.

Reason: Countries that transform their raw materials into a wide variety of finished goods of
higher value are prosperous.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Answer- A.Both assertion and reason are true and A is correct explanation of R/CTdI 3R RO aFIT
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Q5. Which of the following ports is in Tamil Nadu?

(a) Marmagao
(b) Tuticorin
(c) Kandla

(d) Vishakhapatnam
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Ans. (b) Tuticorin/ cciiehl et

Q6. On which of the issues most of the democracies have failed ?

(i) Corruption



(i) Removal of poverty
(ii) Political equality
(iv) Right to vote
Options-

(a) Only (i) and (ii)

(b) Only (ii) and (iii)
(c) Only (iii) and (iv)

(d) All of the above.
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Ans. (a) Only (i) and (ii)/ &ael (i) 31T (ii)

Q7. Read the following characteristics of democracy and choose the correct option.
l. Free and fair elections

II. Equality before law

[ll. Dignity of a person

IV. Majority rule

Options:

(a) Only 1, I and Il are correct.

(b) Only I, Il and IV are correct.

(c) Only I, lll and IV are correct.

(d) Only I, I and IV are correct.
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Q8. Assertion: Modem democracy cannot function without political parties.

Reason: Elected representatives will be accountable only to their constituencies, not towards
the country.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Q9. The party has been recognised as a national Party in 2023 and is a ruling party in Punjab and
Delhi. Identify the party.

(i) Indian National Congress
(ii) Aam Aadmi Party

(ii) Bhartiya Janta Party



(iv) National People's Front
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Ans- (ii) Aam Aadmi Party/ 3718 37T 9Ter

Q10. Which of the following statements are true about political parties?

a) The proportion of those who said they were members of some political party was lower in
India than in many advanced countries like Canada and Japan.

b) Over the last three decades, the proportion of those who report to be members of political
parties in India has gone down steadily.

c) The proportion of those who say they feel ‘close to a political party’ has also gone down in
India.

d) None of the above.
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